AB-1333

| B.Com. (Part-II)
Examination, Mar.-April, 2023

Paper - I

o "B
- Cost Accounting

Time : Three Hours] [Maximum Marks : 75
A [t T F IW AT T g F S
TE B
Note : Answer all questions. All questions carry equal
. marks. '

gehTE / Unit-1
L ‘o o ¥Rd A 3w e ufiged
i afys @ oftw yREAG 7 T Y
- feoquit HifST|
“Cost accounting is becoming more and more

relevant in the emerging €conOmMIC scenario
in India.” Comment.
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gt # wite 9 R & = faem |
fegar e # = T S@ TR witeg
i & qeaie ® R W i
Tl R

11| IRHEE]
fafa  |wmft it wen| < S = aen
fwomo ()| fFomo

fegst 04 200 10.00 o

" 06 - . 100
" 18 300 12.00 -
"a ] ; 200
AN v 100 16.00

"2 ] . 300

Prepare stores ledger account from the
following detajls of receipts and issues of
materials., The basis of valuation of issues is

simple average price :
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Receipts Issues
Umﬁ. Qty. of Materials| Rate Qty. of Materials

(Ke) (%) (Kg)
Dec.04 200 10.00 -
” 06 - - 100
” 18 300 12.00 -
” 20 - - 200
v 23 100 16.00
» 925 . = - 300

FHTE / Unit-II

2. (o) TF FREH § 3§ F WO A 4000

gfas & ad § 200 afs = el Rrd
T R 100 BER I W IE
m,w,_um_.ﬂ" ;

@) Wnﬂ_ﬂr K

(i) ﬁﬂgﬁﬁ

There were aom@ workers in a factory in

the beginning of the yeir New entrants
in service during the year were 200 and
leavers were 100. Find :

(/) Labour turnover
(i) Flux rate
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(b) wHE T FF? gy @l o
zq# a@l fF9 TR fear s =nfeq?

What is idle time and how should it be

treated in Cost Accounts ?

HY4qT /~ OR

FomeTE Agd YA Ugfaal & G ¥ ?
ﬁmwi%%aﬁ%ﬁ%ﬁ_

Discuss the principal methods of wage

payments and explain any three of them.

TehTS / Unit-IIT
w w3 T Iae ¥ FE eg T @

(5)

FAIf T

gygfie A9 7 28,000 Ffdad
fawg =g 15% faskd W
afe o g SR T .02 @ @ fawd TE
Y UM HIFTC

A firm purchased a plant to manufacture a

new product. The cost data for which is given
below :
Estimated annual sale 24000 units

Estimated Costs :

Materials ¥ 4 per unit
Direct labour ¥ 0.60 per unit
Factory overhead ¥ 24,000 p.a.

¥ 28,000 p.a.

Administrative expenses

Selling expenses 15% on sale

Calculate the selling price if profit per unit is
7 1.02.
37¢54a1 / OR

3.
ig fogs fod @ amds e €
i aififes fasnt 24000 THTEAT
Ly 74 Wia TR
Jag 70.60 fd 3R
HREM I9RA 7 24,000 Ffaas
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a§ ¥ aig #, oF Wl "t & AR
1 qed, 99 a4l Iulegg ¥ gfde (Debit)
qom wETyd W WME ¥ 2,000, HEE
w e £8,000, S f& qAem R
T § @ N W T 20% Wt X W®
aga fear ™ ¥, wfee f@m mn ¥
3F F YS 9MG ¥ 30,000 ¥ Iw WM
¥ |, o9 Td IURST 3:2:1 & UM
¥ e @ MW §1 H g 75,000
.

3F F & o9 oY I Tl ¥ TH W
@ Ik F emfhede g QU WU
fem <1 g & qn At @ # 80%
kg ¥ yra &1 IR © | A@rhdal 3 GE
dF oA w5 U TR MHR W
3F F av-g @ B S (Credit) fean
S OgE W ¥8,000 R

IR G T ogEwel § W @@ o
2021-22 ¥ form TR e & f& 2
T FE Wy yEiE qu Ag-wE
SHisu |
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(7)

At the end of the year, a Contract Account
stands detailed with the cost of materials
issued, labour and overheads expended and
plant issued and its stands credited with

materials at site ¥ 2,000 and plant at site -

revalued at ¥ 8,000, after charging
depreciation at 20%. The mnet cost of
contract is ¥ 30,000. The materials, labour
and overheads debited to the Contract
Account are in the ratio of 3:2:1. The

Contract price is ¥ 50,000.

4/5 of the Contract has been certified by
the Contractee’s architect as completed, a
month before the end of the year and 80%
of the certified work value has been
received in cash. The accountant informs
that 2/3rd of the profit on cash basis
credited to profit and loss account of the

Contract 1s ¥ 8000.

Prepare in full, the Contract Account for the
year 2021-22 showing the cost of work
done but uncertified, and the work-in-
progress from the above information.
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(8) i
(9) it
g3/ Unit-1v . i
On the basis of the following information i
4. f= ﬂmﬁmﬁ [ i ISECH 0 Y prepare Process Accounts and a statement of
foaRol AR FIC : profit
Process-I{Process-II|Process-1I1
RIEIS i1 B e S—— :
— Raw materials
g | 1000
< used 1000 ton
A S < ¥ 200 Cost per ton 3200
ERICD .n_m_ﬂ,u_ | Manufacturing |
W =g 3 87,500 [ 34,500|% 10,710 wigestand |
expenses ¥ 87,500] T 34,500{ ¥ 10,710
SH T =% 0k 20% Weight lost s%|  10%|  20%
9 (fosra g3 Scrap (sales price
¥ 50 gfd =) 1 sozd| 303 51 29 ¥ 50 per ton) 50 Ton| 30 Ton 51 Ton
e R Sale price of
output per ton ¥350] <500 ¥ 800
o4 i A $350| ¥500| ¥ 800

Management expenses were ¥ 17,500 and

SRR S 17,500 <& o = selling expenses ¥ 10,000. Two-third of the

T10,000 ¥ go whFpw ¥ SARA H A output of process-I and one-half of the output
.ﬂm.m._m e ﬂ%_d gfmar % I e &1 S of Process-II one transferred to next Process

; and balance are sold. The entire output of
T S yiEm W eaia € W ®

Process-III is sold.

AW A9 feor o 31 dd T H

T SOy a9 fem W R
/ P
umq;ﬁ.n::uv (Co ntinued)
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(10)
(11)
Fret foall @ TF AW F A S e
on road for five days in a month. It takes 5
qur gfa feeldiel @E | wife round trips each day. Its capacity is 50

passengers and on an average 80% of the

nﬂﬂm.&ﬁ&.%%ﬂﬁi&ﬁ%ﬂ@
mdﬂ%w_ﬁw%ﬂd%mmmdﬁwﬂ
W T Fad ¢ qe wfafed s 9 ¥ aq
5 a9d A & B FTA ¥ gmat e so

seats remain full.

Driver’s salary per month ¥ 300

Salary of conductors and

et & s sfae 80w .Hs F@ 2 cleaners per month ¥ 500
TR F99 ufa e %508 Petrol etc. per month ¥ 3,500
; Cost ¥ 80,000
FUEHRH Ud FAT F1 q94 wia 91g ? 500
-~ Estimated Life ' 5 years
LR ufa o®
¥ A0 Insurance, taxes etc. p.a. ? 3,000
[SIUG
¥ 80,000 Repairs and Renewals p.a. ¥ 4,000
A St 5 W
wﬂ.._.w\ Unit-V
dm, 9y yfe e ¥ 3,000 M
. 5. (a) Wrdl @ ¥ 1,00,000
A T TeR i ¥ 4,000
fawa qea wfa = 710
From the following details, calculate operating ofadvia @ma ufa 3HE 26

COSt per passenger km and per km of a bus :

@ & @R W wW-fawy fag

A bus covers a distance of 15km between _
oW cities on an average it does not remain ( ) _
—_—
wmgrz_o..: 3) : - 287 RIG_(13) (Turn Over)
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(12)
Fixed Cost ¥ 1,00,000
Selling price per unit 710
Variable cost per unit T6

Find out B.E.P. (in units) on the basis of
above facts.

(b) "R fF =1 <wmed & wm-fa=e fag
g
W =T 9949 n_w.:_.u
(@) fer @ma d 10% =+t gfg
(i) wfEdTeiter v ® 10% % gfg
(i) Terk @@ d 10% w wHI, AR
Redeitar @rdl ¥ 10% ®t ofg
State that what will be the impact on
B.E.P. under following cases ?
(?) Fixed cost increase by 10%
(i) Variable cost increase by 10%
(iii) Fixed cost decrease by 10% but
variable cost increase by 10%
HYAT / OR
,IIII’

(13)

T I gE afy F g H ufiemw o o
faaf@ $a ufem fadim @@l 4 fyem
@ T A TE, e b w@ F
MY S WMEF AR, I AU Fifew

Describe the means you would adopt in order
to ascertain whether the total overheads as
allocated to the Cost Accounts agree with the
Financial Accounts at the end of a given
period.

(Continued)
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